Al & ol & A H Al A

& 200 ML=
2 210 3aHAA=Y
gt 212 MEs40 (Cr: M)

3-8 Ol &b o T4 04l Atol HR=2
£ 5,189,710 5,085,411 104,299
200 NI2I%e 1,602,360 1,603,362 A1,002
210 FAFAI2I5 1,473,960 1,447,812 26,148
212 A28+ 1,473,960 1,447,812 26,148
212-04 H4TAIBR2 1,473,960 1,447,812 26,148
< MBRE > 1,473,960 1,447,812 26,148
OJIEE 727,608
0AHY 14,00024%1,000% * 12 168,000
02% 7,00094x350& * 122 29,400
ES 5,00024%1,000% 128 60,000
02A 10,0002 %200% + 122 24,000
o0&ty 7,0002%050 & * 122 79,800
o&ler 13,0002 1,200 * 122 187,200
allS 5,200&+5358 x 12 33,384
OAIE 8,300 *620% * 12 61,752
(Ipdsl 7,200 730& * 12l 63,072
o 86,0002 %350& * 102 21,000
owst= 737,400
ales! 33,0002 %550 & * 122 217,800
02F 15,0002 10% * 122 1,800
ES 14,0002 %1358+ 122 22,680
=2 160,000 100% * 12 192,000
o=y 24,0002 %180& * 122 51,840
alely 39,0009 x290& * 122 135,720
04IS 14,0002%055 » 122 15,960
OAIA 30,0009+ 150& * 122 54,000
G 70,0002+50% * 128 42,000
O&E 12,0002%30&* 102! 3,600
OSE1E 8,952
04+ 7,000 %2& 122 168
OAloH 150,000 2% * 122 3,600
OAIE 12,0002 <&+ 122 288
0M= 8,00024% 18122 9%
04lS 400,000 * 1 &= 122 4,800
230 XIZSEAFIT - £ot2 128,400 155,550 A27,150
236 o2 128,400 155,550 A27,150
236-01 222 128,400 155,550 A27,150
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X200 HIgIZ
2 230 NYSSHYMA - 202
8t 236 243 (Crel: M2l
3-8 Ofl & oK T4 04l Atol HRZS2
< MBED > 128,400 155,550 A27,150
OYNEL== 128,400
02 70,00024+20& 1,400
0d= 70,0002 %20 1,400
02A 70,00024%20% 1,400
=2 240,00024*200& 48,000
o&le 240,000 +200H 48,000
048IS 70,0002*20 & 1,400
04+ 70,0002%20 % 1,400
OAIE 240,00024 50 12,000
024y 2F 70,0002 *20H 1,400
sy 240,0002 x50 % 12,000
700 ERSASL LR Y 3,587,350 3,482,049 105,301
710 2RSS 100,000 100,000 0
711 20i2 100,000 100,000 0
711-01 =AY 02 100,000 100,000 0
< MBRED > 100,000 100,000 0
O=NAHLH= 100,000,000 100,000
720 LHEDHeH 3,487,350 3,382,049 105,301
721 del2 3,487,350 3,382,049 105,301
721-03 JIEFSIHIA A2 3,487,350 3,382,049 105,301
< MBIED > 3,487,350 3,382,049 105,301
O™z 3,487,350,000 3,487,350
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Al & ol & A H Al A

B8x3
2NEX2E
=2 )Ex3= (Crel:x2l)
dodicd o5 Ol &F oH &E SOl koK HwE2
ES Al 26,816,130 23,851,881 2,964,249
500 X2 18,321,844 14,990, 104 3,331,740
BN 15,476,844 13,952,604 1,524,240
2NEX2E 15,476,844 13,952,604 1,524,240
01 208x2 12,354,000 8,318,000 4,036,000
A1 > 12,354,000 8,318,000 4,036,000
ostge 4o 12,354,000
OANHRI? S3ot-2E XA 1,844,000, 000 1,844,000
0&=XI7 ot=2=Z JHIAIY 155,000,000 155,000
0E WX+ sHE0ISoteE SEAY
1,007,000, 0002 1,007,000
OUZXIT sHE0ISoteE SEAY
581,000,000 581,000
02HIT sHE0ISotT SEAY
503,000,000 503,000
022X sHE0I26taE SEAY
519,000,000 519,000
OMCHXI=r B3ot=HelAld AEAS
932,000,000 932,000
02X+ sHE0IS6taE SEAY
5,012,000,000& 5,012,000
OAIEXIZ? sUHE0I26t=E SEAIY 300,000,000 300,000
OMESX7 sHE0ISotE SEAY
1,201,000, 0002 1,201,000
02L& X7 sHEOISotE SEAY
300,000,000 300,000
511-03 212 3,122,844 5,634,604 A2,511,760
< &5t > 3,122,844 5,634,604 22,511,760
O] A2(YsSL==H22DI3) 3,122,844
Ot X2t (21 29I) 86,537,000 86,537
0&=XI7 ot=2Z JHIAIY 194,000,000 194,000
02X+ sHE0ISotE SEAY
272,000,000 272,000
02Eotr=HelAIZ(S35t=E 2F)
758,849,000 758,849
OIEEEEHeAE(OIEER el
693, 134,000 693, 134
02LHelAE(2RHelAE 29) 101,321,000 101,321
OAtRZE X2 |(FH a2 2E &=E2e)
43,665,000 43,665
(= SIONEPN R 941,043,000 941,043
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2 500 BXx=2
b 510 2NEX2S
511 2PPXRIS (Cre ™2
Off & oH &S G 0f Ak sz
0FQIXIRAIY Al& 32,295,000 32,295
520 Al - EHIBX2E 2,845,000 1,037,500 1,807,500
521 Al - EHIBX32E 2,845,000 1,037,500 1,807,500
521-01 Al - EHIBX2S 2,845,000 1,037,500 1,807,500
< &ot=e=&1t > 2,845,000 1,037,500 1,807,500
O=1D8XZAI 2,845,000
0S8 Azt 2,845,000
o & CHKI=? b A
395,000, 0002 395,000
o &K otz FHIAY 92,000,000 92,000
0B WXIF SHEDISEIEE SEAIY
216,000, 000& 216,000
oEXI? sHE0IE256H SHAS
124,000,000 2! 124,000
OEEXT SHEDISEIEE SEAIY
108,000, 000& 108,000
o 2dIXI7? sHE0IE256H SHAS
173,000,000 173,000
o AR Z25IH2IAIE AlAAIS
199,000, 0002 199,000
oKX+ SHEAS
938,000, 000& 938,000
OAIEXIR = SHAS
100,000,000 100,000
oNMEXF = SHEAS
400,000, 000& 400,000
0 YANXIP sHEOES6H SHEAY
100,000, 000& 100,000
700 EM-USLLHEHN 8,494,286 8,861,777 N367,491
710 B8-S 500,000 500,000 0
711 A2 500,000 500,000 0
711-01 =AIHL K 500,000 500,000 0
< &ot=e=E1t > 500,000 500,000 0
O=MAHLH= 500,000,000 500,000
720 LHE4H 7,994,286 8,361,777 N367,491
721 M3 7,994,286 8,361,777 N367,491
721-03 J|EtS HH 7,994,286 8,361,777 N367,491
< &ot=e=E1t > 7,994,286 8,361,777 N367,491
Ogeta|H & 7.994,286,000 7,994,286
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